

ترتيب العمليات الحسابية في الاعداد الموجبة

الاسم: _____

1) احسب ما يلي :-

$$(+7.05 - 0.3) + (-1.2) =$$

$$(+3.45 - 0.7) + (-0.4) =$$

$$(-0.2 + 2.75) + (-0.5) =$$

$$(-0.5 + 3.95) + (-0.6) =$$

$$-(-15 + 3) - [21 + (-6 - 9)] =$$

$$-14 : [20 : (-5) - 9 : 3] =$$

$$-12 - [9 - (6 - 8) - 3] =$$

$$-(-15 + 3) - [21 + (-6 - 9)] =$$

$$3 - 5 - 7 - 8 + 6 + 9 + 7 =$$

$$-6 - 9 + 5 + 8 - 3 - 4 - 2 =$$

$$-12 - 4 + 7 + 5 + 8 - 2 =$$

$$20 - [12 - (-3 + 18)] - [18 - (-6 + 3) - 10] =$$

$$-(6-4)-[19-(-3+17)]=$$

$$-(-15+3)-[21+(-6-9)]=$$

$$18-[14-(-4-5)+3]-[-7-(9-6)-3]=$$

$$-14-\{8-[6-(9-12)-(-4)]+5\}=$$

$$-14-\{-9-[20:(-2)\cdot 3]:(-6)\}=$$

$$20-\{-3+3\cdot[-6\cdot 6:(-8:2)]\}=$$

$$\frac{18:(-3)-32:8}{(-56:7+4\cdot 5):(-3)}=$$

$$\frac{[-2\cdot 5-16:(-4)]:(-2)}{-7+3\cdot(-5+9):(-6)}=$$

$$-\left(\frac{2}{5}+\frac{1}{2}\right):\left(-\frac{3}{4}+\frac{1}{3}\right)=$$

$$-\left(\frac{2}{4}+\frac{1}{3}\right):\left(-\frac{1}{3}+\frac{1}{7}\right)=$$

$$\left(-\frac{4}{5}+\frac{1}{2}\right)\cdot\left(\frac{3}{7}-\frac{1}{3}\right)=$$

$$-\left(\frac{2}{6} + \frac{1}{3}\right) : \left(-\frac{3}{5} + \frac{1}{2}\right) =$$

$$-\left(\frac{2}{10} + \frac{1}{5}\right) : \left(-\frac{1}{5} + \frac{2}{10}\right) =$$

$$-|20 - (-2) \cdot (-3)| - |-5 + 9 : (-3)| =$$

$$-|10 - (-7) \cdot (-2)| - |-2 + 12 : (-4)| =$$

$$|-8| \cdot (|-9| - |+7|) =$$

$$(|-3| + |-5|) : |+4| - |+6| : |-3| =$$

$$|-12| - |+15| : |-3| =$$

$$(|+9| - |0|) : (|-18| - |+6| \cdot |-3|) =$$

$$\left[(-2)^5 - |5 - 9|\right] : \left[3 + (-1)^4\right] =$$

$$\left(|-2|^3 - 3^2\right) \cdot \left[|5 - 8|^3 + (-1)^5\right] =$$

$$\frac{(-3)^4 - 7 \cdot 3 - 5 \cdot 2^3}{8 : 2^2 + 2 \cdot 5^2 + (-2)^5} =$$

$$\frac{50 : (-5^2) + 18 : (-3)^2}{(-2)^4 + (-5)^2 - 8 \cdot 5} =$$

$$\frac{(-1)^8 - (-3) \cdot 2^2 + 1^2}{36 : (-3)^2 - 2^2 \cdot 2}$$

3

$$\frac{30 : 5 - 2^2 \cdot 3 + 42 : 7}{15 : 3 - (-2)^2 + (-1)^7} =$$